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@sin25° @ cos0° ® cos10°
@ tan4b° ® tan60°

B

D sin25° 2+ @ cos10°

0°<x<45° Y W, sinx < cosx
w2tA] sin25° < cos 10° < 1

@ cos0° =1
@ tan45° =1
® tan60° = V3

whha] 71 22 7k @ sin 25 °




@ c¢sinB 4+ bsinC @ c¢sinB +bcosC

@ccosB—l—bcosC @ ccosB+bsinC

® ctanB+ btanC

B

AABH oA cosB= —,BH = ccosB

AAHC 9| A cosC =

w}2tA BC = BH + CH = ccos B + bcos C ©]t}.
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® V3 @ 3 ® V2 @)2

2x-y+3=0,y=2x+3
. tana =2
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0.75
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@ sina=0.8 @ cosa=0.6 ® cosb=0.9
@ sinb =05 @tana =0.75

~&B ~

@ sina = 0.6
@ cosa = 0.8
® cosb =0.5

@ sinb = 0.9




